
G

14

K

100mm

14

13

13

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

15

15

16

16

17

17

18

18

19

19

20

20

21

21 22 23 24

J

H

G

F

E

D

C

B

A

H

J

K

L

M

N

P

Q

R

F

E

D

C

B

A

T
o
u
t
e
 
C
o
m
m
u
n
i
c
a
t
i
o
n
 
o
u
 
r
e
p
r
o
d
u
c
t
i
o
n
 
d
e
 
c
e
 
d
o
c
u
m
e
n
t
,
 
t
o
u
t
e
 
e
x
p
l
o
i
t
a
t
i
o
n
 
o
u
 

c
o
m
m
u
n
i
c
a
t
i
o
n
 
d
e
 
s
o
n
 
c
o
n
t
e
n
u
 
s
o
n
t
 
i
n
t
e
r
d
i
t
e
s
,
 
s
a
u
f

a
u
t
o
r
i
s
a
t
i
o
n
 
e
x
p
r
e
s
s
e
.
 
T
o
u
t
 
m
a
n
q
u
e
m
e
n
t
 
a
 
c
e
t
t
e
 
r
e
g
l
e
 
c
o
n
s
t
i
t
u
e
 
u
n
 
a
b
u
s
 
e
v
i
d
e
n
t
 

e
t
 
e
x
p
o
s
e
 
s
o
n
 
a
u
t
e
u
r
 
a
u
 
v
e
r
s
e
m
e
n
t
 
d
e
 
d
o
m
m
a
g
e
s
 
e
t

i
n
t
e
r
e
t
s
.
 
T
o
u
s
 
d
r
o
i
t
s
 
d
e
 
p
r
o
p
r
i
e
t
e
 
i
n
d
u
s
t
r
i
e
l
l
e
 
r
e
s
e
r
v
e
s
,
 
n
o
t
a
m
m
e
n
t
 
e
n
 
m
a
t
i
e
r
e
 

d
e
 
b
r
e
v
e
t
s
 
e
t
 
d
e
 
m
o
d
e
l
e
s
.

W
e
i
t
e
r
g
a
b
e
 
s
o
w
i
e
 
V
e
r
v
i
e
l
f
a
e
l
t
i
g
u
n
g
 
d
i
e
s
e
r
 
U
n
t
e
r
l
a
g
e
,
 
V
e
r
w
e
r
t
u
n
g
 
u
n
d
 
M
i
t
t
e
i
l
u
n
g
 

i
h
r
e
s
 
I
n
h
a
l
t
s
 
n
i
c
h
t
 
g
e
s
t
a
t
t
e
t
,
 
s
o
w
e
i
t

n
i
c
h
t
 
a
u
s
d
r
u
e
c
k
l
i
c
h
 
z
u
g
e
s
t
a
n
d
e
n
.
 
Z
u
w
i
d
e
r
h
a
n
d
l
u
n
g
e
n
 
s
t
e
l
l
e
n
 
e
i
n
e
n
 

o
f
f
e
n
s
i
c
h
t
l
i
c
h
e
n
 
M
i
s
s
b
r
a
u
c
h
 
d
a
r
 
u
n
d
 
v
e
r
p
f
l
i
c
h
t
e
n
 
z
u
 
S
c
h
a
d
e
n
e
r
s
a
t
z
.

A
l
l
e
 
R
e
c
h
t
e
 
f
u
e
r
 
d
e
n
 
F
a
l
l
 
d
e
r
 
P
a
t
e
n
t
e
r
t
e
i
l
u
n
g
 
o
d
e
r
 
G
e
b
r
a
u
c
h
s
m
u
s
t
e
r
-
E
i
n
t
r
a
g
u
n
g
 

v
o
r
b
e
h
a
l
t
e
n
.

N
o
n
 
e
 
p
e
r
m
e
s
s
o
 
c
o
n
s
e
g
n
a
r
e
 
a
 
t
e
r
z
i
 
o
 
r
i
p
r
o
d
u
r
r
e
 
q
u
e
s
t
o
 
d
o
c
u
m
e
n
t
o
,
 
n
e
 
u
t
i
l
i
z
z
a
r
n
e
 

i
l
 
c
o
n
t
e
n
u
t
o
 
o
 
r
e
n
d
e
r
l
o
 
c
o
m
u
n
q
u
e
 
n
o
t
o
 
a
 
t
e
r
z
i

s
e
n
z
a
 
a
u
t
o
r
i
z
z
a
z
i
o
n
e
 
e
s
p
l
i
c
i
t
a
.
 
O
g
n
i
 
i
n
f
r
a
z
i
o
n
e
 
c
o
s
t
i
t
u
i
r
a
 
u
n
 
e
v
i
d
e
n
t
e
 
a
b
u
s
o
 
e
 

c
o
m
p
o
r
t
e
r
a
 
i
l
 
r
i
s
a
r
 
c
i
m
e
n
t
o
 
d
e
i
 
d
a
n
n
i
 
s
u
b
i
t
i
.

E
'
f
a
t
t
a
 
r
i
s
e
r
v
a
 
d
i
 
t
u
t
t
i
 
i
 
d
i
r
i
t
t
i
 
d
e
r
i
v
a
n
t
i
 
d
a
 
b
r
e
v
e
t
t
i
 
o
 
m
o
d
e
l
l
i
.

C
o
p
y
i
n
g
 
o
f
 
t
h
i
s
 
d
o
c
u
m
e
n
t
 
a
n
d
 
g
i
v
i
n
g
 
i
t
 
t
o
 
o
t
h
e
r
s
 
a
n
d
 
t
h
e
 
u
s
e
 
o
r
 
c
o
m
m
u
n
i
c
a
t
i
o
n
 

o
f
 
t
h
e
 
c
o
n
t
e
n
t
s
 
t
h
e
r
e
o
f
,
 
a
r
e
 
f
o
r
b
i
d
d
e
n
 
w
i
t
h
o
u
t
 
e
x
p
r
e
s
s

a
u
t
h
o
r
i
t
y
.
 
C
o
n
t
r
a
v
e
n
t
i
o
n
 
o
f
 
t
h
i
s
 
r
e
s
t
r
i
c
t
i
o
n
 
w
i
l
l
 
c
o
n
s
t
i
t
u
t
e
 
a
n
 
e
v
i
d
e
n
t
 
a
b
u
s
e
 

a
n
d
 
r
e
s
u
l
t
 
i
n
 
a
 
l
i
a
b
i
l
i
t
y
 
t
o
 
t
h
e
 
p
a
y
m
e
n
t
 
o
f
 
d
a
m
a
g
e
s
.
 
A
l
l
 
r
i
g
h
t
s
 

a
r
e
 
r
e
s
e
r
v
e
d
 
i
n
 
t
h
e
 
e
v
e
n
t
 
o
f
 
t
h
e
 
g
r
a
n
t
 
o
f
 
p
a
t
e
n
t
 
o
r
 
r
e
g
i
s
t
r
a
t
i
o
n
 
o
f
 
a
 
u
t
i
l
i
t
y
 

m
o
d
e
l
 
o
r
 
d
e
s
i
g
n
.
 
T
h
i
s
 
d
o
c
u
m
e
n
t
 
i
s
 
t
h
e
 
s
u
b
j
e
c
t
 
o
f
 
c
o
p
y
r
i
g
h
t
.

9

7

0.05 J

COATING
ANTI-CORROSION PROTECTION - SALT SPRAY TEST MIN. 240 HOURS

BESCHICHTUNG
KORROSIONSSCHUTZ-SALZSPRUEHNEBELPRUEF. MIN. 240 STD.

ANZIEHREIHENFOLGE
1. BOLZEN LANG
2. BOLZEN KURZ

TIGHTENING ORDER 
1. LONG BOLT
2. SHORT BOLT

14150  10 Nm + 70  5

BUEGELBEFESTIGUNG
ISO 4762 - M10x12 - 8.8

PAD HOLD DOWN DEVICE
ISO 4762 - M10x12 - 8.8

830 + 15 Nm

BREMSENBEFESTIGUNG
ISO 4762 , GEOELT

M20 x 1.5 x ... - 10.9

BRAKE MOUNTING
ISO 4762 , OILED

M20 x 1.5 x ... - 10.9
17600  30 Nm

WIDTH OVER FLATS
SW

TIGHTENING TORQUE
ANZIEHDREHMOMENT

ENVELOPE CIRCLE CALIPER
HUELLKURVE BREMSSATTEL

REMAINING LINING THICKNESS 2
RESTBELAGSTAERKE 2

BRAKE DISC 434

BREMSSCHEIBE 434

RUBBING SURFACE CA 84
BELAGREIBBAND CA 84

FO
RW
AR
D 
DR
IV
E-
RO
TA
TI
ON
 D
IR
EC
TI
ON

VO
RW
AE
RT
SF
AH
RT
 D
RE
HR
IC
HT
UN
G

DIN 912-M16x1.5x80-12.9 DIN 912-M16x1.5x80-12.9

MAX. ROTARY OUTLINE
MAXIMALE ROTATIONSKONTUR

ASSEMBLY DIMENSION FOR BRAKE PADS
EINBAUMASS FUER BREMSBELAEGE

BRAKE DISC NEW 43-0.2, WEARABLE UP TO 36
BREMSSCHEIBE NEU 43-0.2, VERSCHLEISSBAR BIS 36

HEXAGON SPHERICAL PRINTHEAD WIDTH OVER FLATS 8 MM
SECHSKANT KUGELKOPF SW 8

MIN. DISPLACEMENT
MINIMALE VERSCHIEBUNG

FITTING DIMENSION OF THE DISC PERMISSIBLE
ZULAESSIGES SCHEIBENEINBAUMASS

CENTER LINE CYLINDER
MITTE ZYLINDER

FOR  STORAGE AND SHIPMENT
FUER TRANSPORT UND LAGERUNG

FORWARD DRIVE - ROTATION DIRECTION
VORWAERTS DREHRICHTUNG

1:2

10 15

17

1

2

3

5

6

7

8

9

10

11

13

14

15

16

17

18

12

11

5

15

3

2

14

HH

9
9

5
5

20 377

4
6

120.7 0.3

280

17 0.2

18

5
6
.
2
0
.
2

2.45
+0.05
-0.15

2
4
7
.
1

182

M20x1.5

1
8

1
72
7

M
A
X
.1
9
9 
A
T
 
F
U
N
C
T
I
O
N
 
S
T
R
O
K
E
 
 
/
 
B
E
I
 
F
U
N
K
T
I
O
N
S
H
U
B
 
2
2
.
5
 
m
m

M
A
X
.1
5
9 
A
T
 
F
U
N
C
T
I
O
N
 
S
T
R
O
K
E
 
/
 
B
E
I
 
F
U
N
K
T
I
O
N
S
H
U
B
 
2
2
.
5
 
m
m

2
0

12

2
1 
H
1
0

9
0

0.5x45

6.5+0.5 0

7

(61.4)

44+2
 0

2
1

9

320 10

15

17 0.2

BETAETIGUNGSZYLINDER
M16X1.5

OPERATION CYLINDER
M16X1.5

24210 - 30 Nm

NOTE
BEMERKUNG

MAXX 22
PRODUCT-SPECIFICATION 640 322 079 0

PRODUKT-SPEZIFIKATION 640 322 079 0

DIMENSIONS WITHOUT TOLERANCES ARE GAUGE DIMENSIONS 
NICHT TOLERIERTE MASSE = LEHRENMASSE DIMENSIONS NON

 <CI>  CUSTOMER INTERFACE 0

EXECUTION
AUSFUEHRUNG

COPPER-LEVEL
KUPFER-LEVEL

PAD MATERIAL
BELAGQUALITAET

IDENT-NO. BRAKE
MAT.- NR. BREMSE

AS SHOWN
WIE GEZEICHNET

BWABCO 232 

640 322 079 0

MIRROR IMAGE
SPIEGELBILD

640 322 080 0

AS SHOWN
WIE GEZEICHNET

NWABCO 238

640 322 191 0

MIRROR IMAGE
SPIEGELBILD

640 322 192 0

A 0 CREO 515990 1x H 6923

ECN-No. Revision Techn. Resp. Replacement for

Size CAD System
640 322 079 0 053 EN 1/1

    kg 1:137.940 Doc.Code Language Sheet

Mass Scale Material No. Date of first issue:2012-04-23

Dimensions in mm 

DISC BRAKE MAXX-RANGE
SCHEIBENBREMSE MAXX-REIHE

2025-01-23 Stumpf
Checked

2025-01-16 P Sadasivam
Drawn

Date Signature

Copyright ZFGeneral Specification: ISO 8015, JED-334-1, Size ISO 14405 E

Further Technical Data:

Doc. Code: Sheet:        To

General Tolerances JED-261

Class    1)

Range of nominal dimensions in mm

< 50
>  50
< 180

> 180
< 400 > 400

Fine 0.5 1 1.5 2

3Medium X 1 2 3 4

Coarse 2 3.5 5 6.5

Tapped Holes acc.  

1) Tolerance Class Applied Crossmarked

WITHOUT MIRROR IMAGE
KEIN SPIEGELBILD

ENVELOPE CIRCLE CARRIER
HUELLKURVE BREMSENTRAEGER

3x

(2x)

1x

WEAR INDICATOR
VERSCHLEISSANZEIGE

CONNECTOR TYPE WABCO 441 901 316 2
STECKER TYP WABCO 441 901 316 2

COUNTERPART: CONNECTOR TYPE WABCO 441 902 310 2 
(NOT SUPPLIED WITH BRAKE)
GEGENSTUECK: STECKER TYP WABCO 441 902 310 2 
(NICHT BESTANDTEIL DER BREMSE)

DETAILLIERTE INFORMATIONEN ZUR KENNZEICHNUNG SIEHE 640 421 011 0 DOC. CODE 922
DETAILED INFORMATION FOR MARKING SEE 640 421 011 0 DOC. CODE 922

KABELLAENGE VON UNTERBAUGRUPPE VERSCHLEISSANZEIGE
CABLE LENGTH OF SUB ASSEMBLY WEAR INDICATOR

A AND C CONNECTED
A UND C ANGESCHLOSSEN

BA

C

A AND C CONNECTED
A UND C ANGESCHLOSSEN

AB

C

(2x)

CENTER BRAKE DISC
MITTE BREMSSCHEIBE

ZYLINDER STOESSELMASS
CYLINDER PUSH ROD DIMENSION

C-C

J

(56)

R
 9
7

136

R
 1
1
9
.
5

53

114

104

R
 1
4
2

R
 1
9
5

R
 2
1
3

R
 2
4
0

R
 2
4
1
.
5

70

R7

R
 1
8
8

R9
7

R42.5

2
2
2

R
 2
7
0

R10

119.5

34.5 1

0.9

R
 2
1
9

R3
2 R2

0

R1
0

R7
8

1
1
3

1
1
5
.
5

150

45

R5

R5

3
.
6

2
0
.
6

0
.
9

R7 61.4

70

108

R1
4

M
2
0
x
1
.
5

0.2 J

8

16

16

6

13

18

4

19

20

20

19

21

4

1

11

12

15

10

12

19

21
 


	Sheet 1
	Views
	main_view
	links_1
	new_view_3
	oben_1
	left_24
	new_view_25
	new_view_26
	new_view_27
	new_view_28



